MULTIPLE CNOICE

In which quadrant is the point (5, 8) located?

Quadrant I

Quadrant III

P 4

Quadrant II

\

Quadrant IV

.

Y
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MULTIPLE CNOICE

In which quadrant is the point (-3, 4) located?

Quadrant I

Quadrant III

P 4

Quadrant II

\

Quadrant IV

.

Y
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MULTIPLE CNOICE

In which quadrant is the point (-7, -2) located?

Quadrant I

Quadrant III

P 4

Quadrant II

\

Quadrant IV

.

Y
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MULTIPLE CNOICE

In which quadrant is the point (6, -3) located?

Quadrant I

Quadrant III

P 4

Quadrant II

\

Quadrant IV

.

Y
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MULTIPLE CNOICE

In which quadrant is the point (9, 2) located?

Quadrant I

Quadrant III

P 4

Quadrant II

\

Quadrant IV

.

Y
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MULTIPLE CNOICE

In which quadrant is the point (-8, 1) located?

Quadrant I

Quadrant III

P 4

Quadrant II

\

Quadrant IV

.

Y

© The Maths Vault 2025



MULTIPLE CNOICE

In which quadrant is the point (-3, -9) located?

Quadrant I

Quadrant III

P 4

Quadrant II

\

Quadrant IV

.

Y
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MULTIPLE CNOICE

In which quadrant is the point (1, -10) located?

Quadrant I

Quadrant III

P 4

Quadrant II

\

Quadrant IV

.

Y
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MULTIPLE CNOICE

In which quadrant is the point (4, 1/2) located?

Quadrant I

Quadrant III

P 4

Quadrant II

\

Quadrant IV

.

Y
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MULTIPLE CNOICE

In which quadrant is the point (-2, 3/5) located?

Quadrant I

Quadrant III

P 4

Quadrant II

\

Quadrant IV

.

Y
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MULTIPLE CNOICE

In which quadrant is the point (-5, -1/3) located?

Quadrant I

Quadrant III

P 4

Quadrant II

\

Quadrant IV

.

Y

© The Maths Vault 2025



MULTIPLE CNOICE

In which quadrant is the point (7, -2/3) located?

Quadrant I

Quadrant III

P 4

Quadrant II

\

Quadrant IV

.

Y
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MULTIPLE CNOICE

In which quadrant is the point (3/4, 7) located?

Quadrant I

Quadrant III

P 4

Quadrant II

\

Quadrant IV

.

Y
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MULTIPLE CNOICE

In which quadrant is the point (-1/2, 6) located?

Quadrant I

Quadrant III

P 4

Quadrant II

\

Quadrant IV

.

Y
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MULTIPLE CNOICE

In which quadrant is the point (-4/5, -8) located?

Quadrant I

Quadrant III

P 4

Quadrant II

\

Quadrant IV

.

Y
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MULTIPLE CNOICE

In which quadrant is the point (5/6, -4) located?

Quadrant I

Quadrant III

P 4

Quadrant II

\

Quadrant IV

.

Y
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MULTIPLE CNOICE

In which quadrant is the point (2/3, 5/6) located?

Quadrant I

Quadrant III

P 4

Quadrant II

\

Quadrant IV

.

Y
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MULTIPLE CNOICE

In which quadrant is the point (-3/4, 2/5) located?

Quadrant I

Quadrant III

P 4

Quadrant II

\

Quadrant IV

.

Y
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MULTIPLE CNOICE

In which quadrant is the point (-1/2, -3/4) located?

Quadrant I

Quadrant III

P 4

Quadrant II

\

Quadrant IV

.

Y
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MULTIPLE CNOICE

In which quadrant is the point (3/8, -1/2) located?

Quadrant I

Quadrant III

P 4

Quadrant II

\

Quadrant IV

.

Y
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